fa (1077 erg em™2s7'47")

1 1.5

fa (107" erg em™2s7'47")
0.5

spectrum number

bad:

0.1

Mean Spectrum

Continuum Lightcurve

rm157 c5
T T T T T T T T
N I
T o
o
T
NW.I
)
£
(3]
e =T T Lo
(1)
[nd
1
e
= o
o Cr
o r -1
| -
15108 ) 19654 ) 25588 ) 33288 ) 43308
7000 7500 8000 8500 9000
A (R) z = 1.38329 MJD — 2450000
RMS Spectrum BLR Lightcurve
rm157 BLR 4960 NLR 900 km/s rm157
1 LI R B B | T T T
w [ ]
raw
ORrMsx
RMSx xol 4
-
Mgll
cm]
Hell o ]
PP . CIV
|H 1 1 I 1 1 1 1 I 1 1 H IHIHI |‘“'|H|H|H| " 1 " " 1 " " 1 " " 1 " " 11
2000 3000 4000 7000 7500 8000 8500 9000
A (B) z = 1.38329 MJD — 2450000
x(\t) = ( Data — Model A ) /o x Corrections
x’/(411m—4s71)-1.7as->1.uoe 4576x90 " w rm157
7 } T - 1 LI R B B | T T T
o~
oL ]
o : I~ =
T
o~
)
| " ] P P R P PR PR |
2000 3000 4000 e 7000 7500 8000 8500 9000
1392=0.34% A (R) z = 1.38329 MJD — 2450000
u = 0.064(23) x = 1.237(92) 4 = 0.03(45) x = 1.012(44)
rm157 med(mad) rm157 med(mad) A
H HI N T — T

i

-0.15

3000
A (R) z = 1.38329

4000

8000

N -
7500
MJD — 2450000

Ac %



